®
I M ZG Thread iMing yStem

, YAMAWA

MTappmg he uEure ith [ w 'A‘

(UNC) 6214..
HSS-E 6217..
6211.. 6213.. R R R
UL 64 |p1|<|222
R R R R R u2 56 P1{C | 154 | C | 154 mgg: 8'35 gi g ig
M1.0x 0.25 Pl B | 237 M2.0x 0.25 P1| B | 211 P2 162 - -
M1.2x 0.25 P1| A | 242 B | 220 M2.5x 0.35 P1| B | 211 P3 169 M3.0x 0.5 P11 B 114
M1.4x 0.3 |P1| A | 214 A 195 M3.0x 0.35 |p1| B | 110 U3 48 |pilc 133 MER0-K05/ [/ fH 20
P2 195 M3.5x 0.35 |P1|cC|155 U4 40 |Pi|B| 99 [c| o9 ng: 2‘3 Z 2 E;
P3 215 M4.0x 0.5 P1| B | 106 P2 104 = =
P4 215 M4.5x 0.5 P1| C | 148 P3 109 m;g: 1(2)5 z; g i:i
M1.6x 0.35 P1| A | 211 A | 192 M5.0x 0.5 P1| B | 106 P4 109 . -
P2 102 M6.0x 0.5 |P1|B | 136 U5 40 |Pi[8 ]| 97 || o M10x 15 |P2| B 218
M12x 1.75 |p2| B 305
P3 211 p2| C | 143 U6 32 |P2|8| 94| | o Vi 20 Tralc i
P4 211 M6.0x 0.75 P2| B | 124 P3 100 -
M1.7x 0.35 P1| A | 190 A | 173 cl173 P3| C | 130 P4 104 m;iz gg Ez s 1566731
P2 196 B | 173 M7.0x 0.5 P2| C | 171 us 32 P2| B 92 cl o2 .
P3 211 C | 192 M7.0x 0.75 P2| B | 140 P3 97
P4 194 M8.0x 0.5 P2| B | 203 P4 102
M1.8x 0.35 Pl C | 200 M8.0x 0.75 P2| B | 184 ui1o0 24 R2| B 92 6218..
M2.0x 0.4 P1| A|162| C | 162 M8.0x 1.0 P2| B | 168 P3 97
P2| A | 162 P3| C | 175 P4 102 Fr
P3| A | 171 M9.0x 0.75 |P2| B | 255 u12 24 P2| C | 109
pa| c | 175 M9.0x 1.0 |P2| B | 199 Ul/4 20 |P2| Al 98 M1X0.25 ——
M2.2x 0.45 |P1| A |182 166 M10x 0.5 |p2|cC | 324 P3 102 C| 98 L2045 L =
M2.3x 0.4 P1| B | 145 132 M10x 1.0 P2| B | 212 P4 107 M1.4X0.3 .
p2| c | 156 138 P3| c | 222 U5/16 18- |p2| A| 128 MRS S b
P3 160 C | 146 P4| C | 222 U3/8 16 |P2| A | 155 M1.7X0.35 S
C | 173 M2.0X0.4 39.3/ 14 | 65
P4 C | 146 M10x 1.25 P2| A | 172 U7/16 14- |p3| B | 257
M2.5x 0.45 |P1| A |127|c|127 P3| B | 172 Ul/2 13 |P3| B |251|C 242 M2.3X0.4 o R A L
p2| B | 127 P4l B | 179 U9/16 12- |P3| C | 394 MZ5SNOA S 39% il [Me2 N [N Mo
P3| A | 135 M11x 0.75 |p2|cC | 345 Us/8 11 |P3| B 386 mg§§825 zzz i: jj :: ZZ
P4| B | 135 124 M11x 1.0 P2| C | 371 U3/ 4 10 P3| B |583|C| 386 2 .
M2.6x 0.45 |P1|A|111]|cC |11l M12x 1.0 |P2| B | 294 U7/8 9 |3/ B| 903 M3.5X0.6 jasjiz 47 Le4] 48
P2 B | 111 M12x 1.25 P2| A | 235 U1t 8 P3| B [1254 mgg;(g; zz: iz Z: Z: :i
P3| B | 118 M12x 1.5 P2| A | 235 u1"1/8-7 P4| C [1951 . -
P4 123 M14x 1.0 P2| B | 350 U1"1/4-7 P4| C 2399 MIGE0X020 S LA
M3.0x 0.5 |P1|A| 91 |B| o1 M14x 1.25 |P2|B | 341 U1"3/8-6 |P4| C 3023 m;g;i'gs :z: - Zz ==
p2| B | o1 M14x 1.5 [p2| A|315 UL"1/2-6__|p4| C 3991 M0 0K 1 o2 T
P3| B | 94 C|173 Pa| B ) 328 u1'3/4-5 P4) C 15529 Mlb OXEI_S 80.4| 27 | 81 |101| 111
P4| B | 94 M15x 1.0 P2| C | 646 u2" 4.5 P5|-C (8017 M12l0X1.75 10| 37 | 101
M3.0x 0.6 P1 Cc| 92 M16x 1.0 P2| B | 451 (UNF) 6215.. M14.0X2-0 ol T1e
M3.5x 0.6 P1| B | 97 97 88 M16x 1.5 P2| A | 416 M160X20 1] 54 | 185
P2| C | 105 88 P4 B | 433 R R Mlsloxz.s 209] - | 203
P3| C | 108 C| 98 M17x 1.0 P2| C | 779 . .
pal c | 108 c| 98 M18x 1.0 |p2| B | 783 Ui 72 i 210 | C | 210 M20.0X2.5 |257) - | 220
M4.0x 0.7 |P2|A| 87 |A| 87 M18x 1.5 |p2| A | 569 0260 _|IP2l e |l 46 22020 || - || 2
P3| B | 87 M18x 2.0 |P3| c | 296 U3 56 |P#|C 137 M24.0X3.0 |seo| - | 302
P4l B | 90 M20x 1.0 |p2| B | 892 o) [Pzl el 11e HZTDSSO G| |_s
M4.0x 0.75 |P2 B| 84 M20x 1.5 |P3| A | 736 U5 44 |PijC|108 M30.0X3.5 Jer7] -
M4.5% 0.75_|p2 C | 100 M20x 2.0 |p3| B | 717 e ___dl__||Pal © L v
M5.0x 0.8 P2| A| 89 | A| 89 cl173 M22x 1.0 P2| B [1137 8?0 zg _iz g 19021 Gl o 6219..
P3| B | 89 M22x 1.5 P3| B |1046
PalB | 92 M24x 1.0  |P2| B |1425 P3 97 a0 gi
M5.0x 0.9 |P2 c| 90 M24x 1.5  |p3| B |1387 e fep S
M6.0x 1.0 |P2|A| 96 | A| 96 M24x 2.0 |P3| B |1195 Ui2 28 -P2|C | 109
P3| B | 96 M25x 1.0 |p2| C |2218 Ui 23 | P21 E e
P4| B | 99 M25x 1.5 P3| B |1764 P3 102 ) /
M7.0x 1.0 |P2| B | 100 M25x 2.0 |p3| c|1744 a0y
P3| c | 105 M26x 1.0 |P2| C |2458 Ui/4 32 - |p2| C | 210
M8.0x 1.25 |P2| A |124 | A | 124 M26x 1.5 |p3| B |1841 Ul iG 25 _||PPILB || e
P3| B | 124 M27x 1.5  |p3| B |1780 US/8 24 - P2/ B | 160 C | 160 M2.0X0.4 - 128
pal B | 131 M27x 2.0 p3| B [1708 u7/16 20 P2| B | 265 | C | 265 M2.5X0.45 - 128
M10x 1.5 |P2|A|158 ]| A | 158 cl173 M28x 1.5 |P3| B |1755 U1/2 20 - |P2| B | 259 |C | 259 M2.6X0.45 - 128
P3| B | 158 M30x 1.5 |Pa| B 2164 UeVip 19 IR B SH5 € || 96 M3.0X0.5 = 70
P4| B | 168 M32x 1.5 |p3| C |2361 U5/8 18 - P2} B | 398 M3.5X0.6 70 7
M1ix 1.5 |P2| C | 220 M33x 1.5 |Ps| C |2669 UEle ik = ||PElL B || G0l M4.0X0.7 & w
M12x 1.75 |P2| A |222 | A | 222 M33x 2.0 |P3| C |2669 U7/8 14 -|P3|B | 931)C | 931 M5.0X0.8 o3 70
P3| |a37 M33x 3.0 |p3| c|3106 Uit 12 _o|FBll G || 146| € || 340 M6.0X1.0 6 70
PajB 235 C M36x 1.5 |P3| C |3662 ui'1/8 12 |P3|C|2032 M8.0X1.25 70 &
M14x 2 P2| A |297| |297 M36x 3.0 |p3| c|3662 Ui iz 12 |[P8 € |laisn M10.0X1.5 % )
P3| |313|B M38x 1.5 |P3| C [4138 (BSW) 6216.. M12.0X1.75 120 128
P4| C | 329 M39x 3.0 P3| C |3273 M14.0X2.0 120 128
M16x 2 P2| A | 393 393 M40x 1.5 P3| C |4761 R R M16.0X2.0 130 132
P3| B |303| M42x 1.5 | P3| C |4866 1/8 WO |P1|B| 95 |c| 9 M18.0X2.5 - 132
P4| B | 416 C [173 M42x 2.0 P3| C |5271 5/32 W32 |P2| C| 105 M20.0X2.5 - 194
M18x 2.5 P3| A | 538 538 3/16 W24 |pP2| B 92 | C| 92 M24.0X3.0 - 194
M20x 2.5 P3| A | 696 | C 7132 W4 |P2| C| 113 1/8- 40UNC 63 194
M22x 2.5 P3| A|900|C 1/4 AV |P2| B|116| C | 116 5/32-32UNC 63 70
M24x 3.0 P3| A [1167 1167 1. 5/16 W18 |P2| B | 152 | C | 152 3/16- 24UNC 63 70
M27x 3.0 P3| B |1518 1518 YAMAWA 3/8 W6 |P2| B|185|C| 185 1/4-20UNC 63 70
M30x 3.5 P4| A |1877| C 7/16 W14 |P3| C | 232 5/16- 18UNC 75 70
M33x 3.5 P4| B [2186 2. R 1/2 W12 |p3| B |305|C| 287 3/8- 16UNC 85 83
M36x 4.0 P4| A [2494| [24904 A)=( 5/8 W1 |P3| B | 489 7/16- 14UNC 90 83
M39x 4.0 _|Pa| C 3177 g;:g 3/4 W10 |p3| B | 737 1/2-12UNC | 100 132
M42x 4.5 | P4| C [3770 AL - 7/8 W |p3| B |1141 5/8- 1LUNC 120 122
M45x 4.5 P4| C |4260 - N 1" w8 P3| B |1638 3/4- 10UNC 150 132
M48x 5.0 P4| C |5325 C 173 1"1/4 7 WpP4| C |2630 1"-8UNC - 132

LO9



/ Screw Tap/Threading Die

e, L L

HSS-E
6221.. 6224.. (UNC) 6224.. Attt YAMAWA
R R R R R R R
HSS-E 6227..
M1.0x 0.25 [p1i]| B | 225 M2x 0.25 p1] c | 201 u2 56 |Px|B|139]C]| 139
M1.2x 0.25 |p1|B | 225 A | 247 247 M2.5x 0.35 |P1 P2 145 ( )
M1.4x 0.3 Pl A|186|C| 186 | A| 204 204 M3x 0.35 P2| C | 118 P3 152 R
P2/ B | 186 | C | 186 | B | 211 M4x 0.5 P2| B | 105 u4 40 P2|B| 94 |C| 94
P3| C | 206 c | 227 M4.5x 0.5 |p2 P3 100 M1.0x 0.25 |G4| A 185
M1.6x 0.35 |P2| A|181| C |181|A | 199 199 M5x 0.5 P2| B | 105 P4 104 G5| C 194
P3| C | 201 B | 216 M5x 0.75 P2 us 40 |p2|c| 96 |C| 96 M1.2x 0.25 |G4| A 169
P4 M6x 0.5 p2| c | 137 ue 32 |p2|B| 89 |c| 89 G5| B 169
M1.7x 0.35 |P2| A|165|C | 165|A | 182 M6x 0.75 P2| B | 123 P3 94 M1.4x 0.3 |G4| A 160
P3| B | 171 B | 188 M7x 0.5 P2 P4 99 G5 A 160
P4 M7x 0.75 p2| C | 145 us 32 |p2|B{ 87 |C| 87 G6
M1.8x 0.35 |p2|cC|183 M8x 0.5 p2| c | 193 P3 91 M1.6x 0.35 [G4| B 151
M2x 0.4 P2| A|139| B |139|A| 153 153 M8x 0.75 P3| B | 183 P4 99 G5 A 151
P3| B | 139 B | 153 M8x 1 P3| B | 155 U10 24 |p2fB| 87 |c| 87 G6
P4| B | 143 B | 158 M9x 0.75 P3| C | 227 P3 91 M1.7x 0.35 |G4| A 151
M2.2x 0.45 |p2| B | 153 MOx 1 P3 P4 99 G5| A 151
M2.3x 0.4 |p2|B |128]cC| 128 M10x 0.5 p2| C | 240 u12 24 |p2lc|100]c| 100 G6| B
P3| B | 128 M10x 0.75 |P3 ul/4 20 |P2({B| 93 |C| 93 M1.8x 0.35 |G4| C
M2.5x 0.45 |[pP2|A|111]|c|111|A|122 122 M10x 1 P3| B | 197 P3 96 M2.0x 0.4 |G4| A 138
P3| B | 111 B | 122 M10x 1.25 |P3| A | 146 P4 102 G5 A 138
P4| C | 119 C| 131 M11x 0.75 |P2 U5/16 18 {P3| B | 122| C | 122 G6| B 138
M2.6x 0.45 |P2|A| 97 [c| 97 | A | 107 107 M11x 1 P3| C | 318 U3/8 16 |P3|B|147|cC| 147 G7
P3| B| 97 |C| 97 | B| 107 M11x 1.25 |P3 U7/16 14 {P3| C| 213 M2.3x 0.4 |G4| B 142
P4l c|105|c|105]|c| 116 M12x 0.5 P2 U1/2 13 |p3[B| 239 c]| 239 G5 145
M3.0x 0.5 |P2 Al 79 [A] 87 87 M12x 0.75 |P3 U9/16 12 {p3[c|3es G6| C 145
P3 c|s2|B]| 87 M12x 1 P3| B | 291 U5/8 11 [p3[c|379]c] 379 M2.5x 0.45 [G5| A 122
P4 B | 89 M12x 1.25 |P4| B | 219 u3/4 10 |P4| C|580|C | 580 G6| B 122
M3.0x 0.6 P2| C| 87 87 M12x 1.5 P3| B | 218 u7/8 9 P4| C | 899 G7
M3.5x 0.6 |P2|B | 83 83 92 M13x 1 P3 U1 8 [Pa] c[1s30 G8
P3lc| 91 M14x 0.75 |p3|c | 436 u1'1/8 7 - M2.6x 0.45 |G5| A 126
pajc| 91 M14x 1 P3 ui'i/4 7 - G6| B 126
M4.0x 0.7 P2 A| 75 |A| 83 83 M14x 1.25 |P3|C | 339 u1"3/8 6 - M3.0x 0.5 |G5 106
P3 c| 79 B 83 M14x 1.5 P3| B | 299 U112 6 - G6 106
P4 B| 85 P4| C | 307 u1"3/4 5 - G7 109
M4.5x 0.75 |p2| C | 104 M15x 1 P3 u2" 4.5 - M3.5x 0.6 |G5|B 115
M5.0x 0.8 P2 A| 76 | A| 84 84 M16x 1 P3| B | 429 G6| B 115
P3 c| 8o |B| 84 M16x 1.25 |P3 G7|c 128
P4 B| 87 M16x 1.5 P3| B | 395 M4.0x 0.7 |G6 114
M6.0x 1.0 |P2 Al 83 ]Al o1 91 M18x 1 P3| B | 725 G7 114
P3 B| o1 M18x 1.25 |p3 (UNF) 6225, M5.0x 0.8 |G6 122
P4 B| 94 M18x 1.5 Pa| B | 541 R R G7 122
M7x 1 P2[B| 94 |c| o4 M18x 2 P4 M6.0x 1.0 [G6 134
M8x 1.25 |P3| A |118| A | 118 M20x 1 P3| B | 848 U0 80 P3| ¢222 G7 134
P4| B | 124 C | 124 M20x 1.5 |pa| B | 699 UL 72 |P#|C|206
M10x 1.5 |P3| A |151|B | 151 M20x 2 pa| C | 732 U4 48 |Pi|C 109 6228..
M11x 1.5 [P4|cC[217 M20x 1 P3 U6 40 |P2| C|103|c]|103
M12x 1.75 |Pa| A |212|8 | 212 M20x 2 pa| B | 996 U0 32 |P2/B| 87 |c| 87 R
M14x 2 P4 B | 283 C | 283 M22x 1 P4 BS 90 M8.0x 1.25 |G7| B 190
M16x 2 Pa| A |374| B | 374 M22x 1.5 p3 P4 95 G8| c 199
M18x 25 |pa| B |512| C|512 M22x 2 pa| B |1317 Ui2 28 |p2) C| 103 C | 103 M10x 1.5 |G7| B 238
M20x 2.5 |P4| A | 661 B | 661 M24x 1 P4 Ul/4 28 |P2/B| 93 |C| 93 G8| C 266
M22x 2.5 |P4| B |882| C | 882 M24x 1.5 |p3| c |2112 US/16 24 1P2| B | 126 C | 126 M12x 1.75 |G8| C 396
M24x 3 p4| A [1109] c [1109 M24x 2 p3| c | 2755 U3/8 24 |P2|B|152|C| 152
M27x 3 P4l B |1443| C | 1443 M25x 1 pal B 1683 U7/16 20 qP3| B | 203 | C | 203 6229..
M30x 3.5 |ps| B |1838 C |1838 M26x 1 pa| C 1250 Ul/2 20 P3| B | 246 C | 246 (UNC NIF)
M36x 4 P5| B [2442] C [2442 M27x 1.5 |p4 Uiy 15 4|FElLE | 30| C || 40
M42x 45 | P5| C |3826] C |3826 M27x 2 pa| 1715 U5/8 18 P31 C|391)C | 391 R
M28x 1 P3 Ugia 8 il B ] 50| E L5 Uo -80 |ca 231
M28x 1.5  |pa U1" 12 -P4) C 1364 Ul -72 lca 227
M28x 2 P4 ClEC T [ oy s Gs| C 227
6223.. M30x 1.5 pa U1"1/4 12 [pa[ c[2298 U2 .56 lod o 171
R M30x 2 B4 U1"1/2 12 |P4| C |3825 e 171
M30x 3 P4| C | 2480 U3 -48 G4| C 153
M3x 05 |P2 M32x 1.5 |P4 G5l c 153
M4x 0.7 P2| c 108 M32x 2 pa U4 -40 |os|c 144
M5x 0.8 P21 C 110 M33x 1.5 |p4 G6| c 144
M6x 1 2Le Ll M33x 2 P4 G7|c 149
M8x 1.25 |P3|c 171 M33x 3 =0 U5 -40 |es|c 143
A0S 5 (9 M36x 1.5 |pa| C |2479 U6 -32 |es|c 127
M10x 1.25 |p3|C 225 M36x 3 P4 c |3340 (BSW) 6226.. Ge| c 127
M42x 1.5 pa| C [4709 G7 ¢ 131
M42x 3 P4| C |5111 R R Ug -32 |c6|C 142
| 1/8 W40 [p2[c] 95 95 G7 142
OSGITOSG : 5/32 32 2| c| 99 99 Gs| c 146
3/16 24 \W2|B| 87 87 ué 40 |Gs51C 135
7/32 24 W2| c | 107 Uli0 24 |G6|C 150
H T D 1/4 W20 |P3|B|111 111 G7| C 150
" " 5/16 18 W3| B | 145 145 Ul0 32 |ce|C 150
3/8 W16 |p3| B | 175 175 G7| C 150
1/2 W2 |P3| B | 289 Ul/4 20- |G7|C 163
5/8 W1l |P3| B | 453 453 Gs| C 168
7/8 w P4| C |1137 Ul/4 28- [Ge|cC 168
1"1/4 W __ [pa] c[2397 G7| C 168

L1G



